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2017 International Mathematics Primary Contest (Taiwan)

SR _FRE BE

X BRERREZERSEL
— EEFEEBE109)
( € )1.A"mesh" area of 8 square meters with a wire, as shown, how many

meters of wire should he prepare at least? (excluding wire thickness)

B2 REMEREE S TAARN B, THES - NEFT - AtESSRESD
AR mEERs SRR EERER)

(A)8 (B)12 (C)16 (D)20 - J
X y X
fEth: WMEFRERERA x - BER y xy=8 y

NE#ERSA 2x+4y HELALEAXT 2x+4y=>22x-4y
> 2X+4y>2./8x8 = 2x+4y >16
BIE/VEXER 16 ARV % -
(B )2. F—EEXBFHENAZBETTC AR IAFEANALON4.6% -~ 2.2% - 71
B EVEFEAOSIERERN 2 FLE? (log2~0.3010)
(A)30 (B)31 (©)32 (D)33 -
FE AT
REAAOEAS x - n FEAOES 2x
46 2.2Y
]| ( ———) X=»(1.024)' > 2

100 100
log2  0.3010
Iogl 024 10x0.3010-3

nlog(1.024) > log2 - =301 . F/1 31 £F -
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( A)3. EBiRxBEMAEE - F&ERax’ +2ax+(3—a)>01EmII - AIEE a WEEE A

1q?(A)0£a<g (B)OSaS% (c)a>g (D)a>% o

R
(1)%& a=0 - —&ERKII °
(2)Za=0 . ax’* +2ax+(3—a)>0 - EREII

2> 0 a>0
3
-){(Za)2—4-a(3—a)<0-) 0<a<>
, 3
E|3J21§§ﬂ0<a<§

BELE> 0<a< -

( A4 BIEX F(X)BR -1~ x-2 - x-38RXnAIE 3713 3k f(X) FFIU
(x-1)(x-2(x-3) Z R A& a?

(A)X* +x+1 (B)x*—x—-1 (C)2x+1 (D)4x-1

REAT:

f(x)=(x-DQ,(x)+3

f(X)=(x-2)Q(x)+7

f(x)=(x-3)Q,(x)+13

22 f(X) = (x=D(x—2)(x—3)Q(X) +ax* +bx+c

S f@M=a+b+c=3 - f(2)=4a+2b+c=7 . f(3)=9%9a+3b+c=13
Sa=1:b=1:c=1" FRGBXBE X +x+1 -

( B )5 kY90 {LRNME - NBBEE—IR?

(A)3 (B)4 (C)5 (D)6

AR

3/90 =x 3 x* =90

Z f(x)=x>-90

Bl f (4.4)=—4.816<0 - f(4.5)=1.125>0

S 44<x<45
=FRkBE 4
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( A )6. THIB—EBREER: (x+1)"™ (x—2)'*(x—5)'" <0 BLIL ?

(A)-1.8 (B)-0.8 (C)1.8 (D)4.8

REAT:

(1) (X+D (x—2)(x—5)"® <0

BX+D® >0 (x-2)'%>0 . (x-5)'”>01EAEII

(2) x+D)(x-5) <0OHx=#-1-~2+5

2> -1<x<S5HxXx#2 #-1.8 FEHEAN - EA -

( B )7. GEREY - BRFZHEMIEILL LB/ ARIRFAER - HEEBRETEIE - 25l
B 218~ 6@ - 12 fE/NARE.... . DILEEEHE - oA 1 [ErviEdRs 2 (@ - 2 [ErViEYRS 8
& - 3 IERUEIRA 20 (& - Bl—{& n BavERHABZ/MEIEII A BEARR?(GER n &{R)

(A) % n(n+1)2n+1)

(B)%n(n +1)n+2) E]i—ﬂ l I/F]i

on
D)’ +n°+n+1

RRAT: /z}:_tt-)zn:k(k+l):%n(n+1)(n+2)
—{E& n EBRVIESRBVIENI RS/ KIRE A

1X2+2X3+3X4+4X5+...+n(n+1)= Zn:k(k+1)=%n(n+1)(n+2)

(B )8 ULEBAFEHBEEAEZENT - BHEMGEER  AXSVEEE?
(A)400 #& (B)420 #& (C)440 & (D)460 & -

E

BT
(1)B-DE®&IF - A>BD>CHE D A B
5X4%x3%x3=180 c

(1)B-DE&k - A>B>D>C—HE
5X4Xx3X2x2=240
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£ 180+240=420 %% -

(B).B-Z-A-T-H-B-B7AEEL 4 ASMEREHLEE . BB .2
AEVEE— AWEEHES/VE?
(A)32 (B)34 (C)36 (D)40 %= -
AR
B.Z - ASAEDE—A
= (EEEWMMNSZE)-(B - 2« REAZREAE)
=C] -C; =35-1=34(ig)
VT - 2+ B
( D )10. I8 2 AREWHEE - 4 AFREMBEBER 1 FHXEHA—F - RIS
ENEHTIE—E  BEStNEFE—E  NEENEERESVE?
(A)120 (B)144 (C)280 (D)288 i& -
BR AT
3K2K41=6x2x24=288%& -
( C )11 HEE (L5 AMES NS ESE—MI(E M AA) ZES@?
(A)1.6 (B)1.7 (CO)1.8(D)1.9 -
R AT
(1.05)"” = (1+0.05)"* = C¥1+ C!?0.05+ C¥?(0.05)* + C?(0.05)° +.......
=1+0.6+0.165+0.0275+..... ~1.7925~1.8
(A )12. BEA-BREEIZS MaZRNIERS100/6 AR - SRIELAEMC .

. 6 —/2
X & ZABC =105° - /BAC =45° - [Efili C BB & A MHEERIE?(SIN15° = /6 2 V2 :
cosl5° = V6 Z \/E)
(A)100(3++/3) (B)50(3++/3) (C)100(1++/6) (D)50(1++/6) AR -
ﬁ@*ﬁ: B e
105°
/BCA =180° - (105+ 45)° = 30° 10078

s
A
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FH1E 5% E 2 40 AC _100\/6
EEASIN105°  sin30°

V6 ++/2

— 100J8.sin105° 100V6-
9 C: - =
sin30°

1
2
( B )13. BhE—/MEEREAF - Bltano=?

1 1 1 1
W5 B ©OF 05

100B3++3) pp .

1 2 P
Azt tan(90° + y) = ———— b
tan y D
S /ZAPB=«a - ZCPD = g ({14 E)
1
-)tana=§  tan B =1
stan(a+ p) = ana +tan j =T=2
l-tanatan f 1_~x1
3
1 1
stand=tan(90°+a+f)=—— " =—=
tan(a + B) 2

( ¢ )14. 5t (sin23°+sin67°)* +(c0s23° —c0s67°)° =?

(A)O (B)1 (O)2 (D)3 -
BR

Bt =5sin%23°+2sin23°sin67° +5sin® 67° + cos’ 23° — 2¢0s23°cos67° +cos’ 67

=1+1=2 ("sin23°=c0s67° + Sin67°=c0s23°)
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( € )15. Peter had a chip card issued by the Post Office, a total of 8 digits,
and one day when he went to the post Office ATM, he forgot the last digit of
the password, so he decided to start from 0, 1, 2, 3 ... 9, first guess one. If you
guessed wrong, the next time to guess the other numbers, but if even try
three times are wrong, the ATM card will be automatically locked card, if each
number is selected equal opportunity, what is the probability of his ATM card

1 9 7
locked card? (A)— (B)— (C)1 (D) 1000 o REES(REAEZT 10)

#iiZE KEAE—RBERTHNRRRME BHEHE 8 AT F—XMtIHZEE
BRIENR EATRKEZEBNRE—EHF  REMREKEO0 123 . 9F+EH
FHEREEE—E - MRBE - TRERFEMET  BEEEA=REERAE -

ERFHERKEHEFT -  MIRESEMFHEEPHRSHES - BRMERFREFN

HRES I
FRAT:
1. 91981 7 P 9x8x7 7
S X—s—X—X—=— o Fff —-= =— o
10 10 9 1079 8 10 Py’ 10x9x8 10

(c)le. EAHE  FIY58 3. SEEHE N K - EWEn FPEDEHP—%
AR KRS 0.999 - Bl n M&/IMEARME? (log2=0.3010 - log5=0.699 )
(A)10 (B)9 (C)8 (D)7 -

BT
2.1
(Dn§%$ﬁ¢%)

2 2 1
(L) £y = >1000
(2)1 (5) >o.999-)(5) <0.001= 1000-)( )
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O\n
= |09(E) >1091000 n(log5- log2) >3
~ 3 3
log5—log2 0.699-0.301 0.398
2>n>8 - nF/NMERS8-

= N> ~71.5, BthneN

( B)17. EREEBRAE (RS 100 - &€ 0) - AAMERER - EEIRER
A:y=2X
By = gHZO Mg RER - CAMERAREE LA AZIZE 100 4 - B2H

BEAMUAGEEENSHMEANERE B HNRABENS B - KIRIGKENEIEE
KERZV5? (A)10 (B)20 (C)30 (D)40 43 -

BR A

ZE=-FESERPH 'HFXE-=/IVE

2 X %‘T‘E#“E)Z% X BEE

=af= TEE%I] X+20<2X<100-)30<X<50 MZEEE=50-30=20 %

( A)18. tIEE - 240 P(—,—)ELXE'\%E O BELHIELIE L - £ OP BiRiE iz
Eﬁlﬁ%’% 9 Bp Eﬁl““lﬁ H—:iﬂ‘:‘[‘jﬁ@i@iﬂlt% BhQ - 3K Q BhArEE?

(A)(-E E)(B)(-z_s E)(C)(-E E)(D)('E E)Zli% Er(RRELE EP)

BT y
3 ) 4 0
%] COSO =— . SIn@ =— p
2 5 5
#0526 = cos” @ —sin” @ = (= ) —( ) :_215 g
> X
0
sin280 = 2sin @ cosf = 2x3xﬂ:ﬁ
5 5 25
BB (-, o
Q= =( 25" 25
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( D )19. {E&E7 + /45 -7-45 =7
(A)64/5 (B)3v10 (C)+5 (D)/10
BB 2 x=/7+/45-\/7-45

D X2 =T +/45 +7 /45 + 2,(7 +/45)(7 —\/45) =14 2./49— 45 =10
2 x=+/10 (B1 x=+/10)

( D)20. FZ—FEE5A n IBMFNA S, * & S10=6 » S20=20 - Bl S3p=?
(A)26 (B)32 (C)36 (D)42
BRHT: = S30=x96, 20-6, x-20 K E=
>2X14=6+x-20
>x=42 - B[] S30=42
( D )21. Calculate the exact value of 42-2%(8-3)="?
(A)200 (B)100 (C)23 (D)32
R SERFREINE - ERELM - FX=42-2X5=42-10=32 -

(A )22. Which tank will fill up first?
(AF (B)G (OK (D)H -

=N
BRH: D R H 2B33E - 1 ROIEIBELE L
&L LB EEK LBERAF - ] oA

PRIA F E5cimKA -

=r

L

|
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(A )23.Figure out the following number laws:

14%2=21

20%4=75

36>%9=320

40%10=?

(A)396 (B)386 (C)376 (D)366 -
B
14%2=14%x2-14+2=28-7=21
20%4=20x4-20+-4=80-5=75
363%9=36x%9-36+9=320
40%10=40x10-40+10=396

( D )24.17% 1000 2284 - 1% 3 RSB 4 MER S RIIO RABFEZR -
1 20A507A0 1011QBUOLAITR19AD 2

23 R 25 26 ...
503 /A /A (9 BEEOBRMIMIASESVE?

(A)164 (B)165 (C)166 (D)167 4 -
i (34)=12 - B12ABMEA 24
1000+12=83.....4
2x83+1=167# -&ED -

( B)25.ABC-D-ERAZMEHR - mHnB107 -  GHRER -
A:"TE47ME - .
B: "HRTB&ESD - .
C:"RZ2AMDARYFELY - ,
D: "®=2 5 EARFELS -
E:"RERAFE_S ?i:l:l:C 2573
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SR B 1B%5? (A)7 9 (B)8%H (C)9% (D)10 4% -
24T BAB - C D - E 355
(1) A=4 - F D<4 . Bl D &IE7 (D AolgE2 5 B ABFL)
(2) A=4 - £ D=A=4 . Bl C= A;D =4

XEEECZ24(BIER6%)  AID AolgEZ 5 BARFL -
(3)1R#Z(1)(2) D>A=4 - 5 AX/ND>B>E>D>C>A

(4)A=4 . C= A;D = 4;'3 3D 2B

0% D=102>F5(E4 B &5

D>B=5X6-(7+6+5+4)=8.. %5 - &EB -

— - FIEE(BRE 25 9)

1. &a~b-caBIRAABC Z2ZA ~ ZB -~ ZC HH[EE
b+c cosB+cosC

a 1-cosA
(2) 5 cosA+cosB+cosC>1

R

(1)
a=bcosC+ccosB
b=acosC+ccosA
c=acosB+bcosA

b+c=acosC+ccosA+acosB+bcosA

b+c=a(cosB+cosC)+cosA(b+c)

(b+c)—cosA(b+c)=a(cosB+cosC)

(b+c)(@—cosA) =a(cosB +cosC)

b+c cosB+cosC

(1) &iE:

/81 23%
2 a 1-cosA T

cosB+cosC_b+c>1 PR, s
(2) "1 cosA 3  ZAEMEBZMARE=E  b+tc>a
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cosB+cosC >1-cosA
= COSB+c0osC +CcosA>115:E

2. Known as the A brand of the pen pen more than the B brand of the pen
expensive 2 dollars, brother had to change 120 dollars, all used to buy B
brand of the pen, but because A brand of atomic pen more durable, so he
decided to borrow from my mother 40 dollars, plus their own pocket money,
all used to buy A brand pen, and can be bought than the original B brand
more, ask B brand how many dollars each one?

#:E: A A BREFELS B BNEFESE 2 5 - FEARKRATE 120 7t - AR
fEE B AR FE - BER A EEVRFZELCERM A - FrRUtRE@ISISE 40 7T - 0
J:EEE’\JEFH% - TEAAAKRIEE A IR - MECMIERSTEERN B 2 —1 - 5k
B i#8&ZMIT

REAT:

LTBHEBR Xt  ABRBR x+2 7T

160 120
xER AHEE— [RE B Hﬂ_

160 120
X+2 X

160x=120(x+2)+x(x+2)
X=8 = 30
&8z 30T °
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